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obg 12,3213 54«57 Al 2Hx 12 +7 (% 318,562
org 11, 1303 #27 B 57 A 2H+ 123 +70% 143,885
=85 9,902 +32E +57 A 2H+ 123 +70% 153,094
S =) 9, 1603 *21H+57 Al 2H+ 12 +7(% 92,102
OAIZIHERZDIM AlEIZ22E =12
9, 9922 +6Z *20A| 2H+ 122 14,389
OD2LHY TS B2 Al2tel224g 21t
= 10,6512+ 102 *43A| 2+ 123 54,960
OZ2ZLHY tHe S Hla22+E 20,640
=IZLHY MEE(2HE)
8,000« 10 +7* 122 6.720
oIZLHY dEXZA 22X
8,000& x 152 *116& 13,920
02 JIEtA 2= 750,063 636,978 113,085
| 104,643
oAZtel 2R+ T2 61,155
-85 9,902 x6H*30A| 2+ 123 21,583
-9= 9,160 x 122 +30AI12++ 123 39,572
oIZLHY S Hlad=2F+E 4,608
-22LH9 HYE(2HE)
8,000 687« 123 3,360
-IZLHY dEdlgA 22X
8,000& 13 1L« 12& 1,248
=il 8,000 x18Z*10x 12 17,280
o=LH0HI 20,0002 x 182+ x 12 21,600
OSSZ2AH2AM 541,716




2A: BHAA
M HHSAA(2AAR D) (DIEHIIEH
oel: el 2dH| (St &)
SN - BH . S(B) - HPAR - BAS ol by e HIRS2
oAZeRRAaL Hus
13,3692 %35+ 10A| 2+ 12 56, 150
oAlZIQRRAL e
13,3692 * 10 *20A| 2+ 12 32,086
CNBH=RY2
9200002 *3521* 122 386,400
oQEIRLY 40,0002 %362 * 122 16,800
onggsa 30,0002+ 15 * 12 5,400
cEAX2RLS 52,0002 %202 * 12 12,480
oXIYPBE Mooy 32,400
~DRLHY HLEE =24 o
45,0002 %12 +20 2 + 122 10,800
—D2LHY YR KL
45,0002 * 12102 * 122 5,400
-22LHI THXIS HLES
45,0002 #1250 K| A %325 * 122 5,400
-DR2LH9 HS AL
45,0002 +5 2 *42 + 122 10,800
OAZHEERIQIIH(EAX A SelXE B
o) 103,704
o= 3,000,0002 *2%i * 12 72,000
[ 18,000
Al 54,000
oxoiz 197, 8402 x2% * 122 4,749
oS4EI4Y 139,500 2% » 122 3,348
oAZeRRAaL Hug
98,3202 %28 * 12 2,360
o HHTAIH| 140,000 x2% * 122 3,360
oXZHXH|(82AY)
145,0002 %234 * 122 3,480
o2 A
2,906, 41021 *B4%+86%+1/30%1/7+ 140 Al 2122
2,800
oAl RRat xtE
9, 9922 x0T *20A| 2+ 122 4,797
oltEay 20,0002 *4%* 122 960
ooz =y 43,7502 %0 x 122 1,050
oAalEE2 4,800,0002*14! 4,800
08 ZRR(LI|H 22K 24 101,572 98,998 2,574
OAlZIel 28R4 100, 132
oJIBAR
14,5132 %1 2 %20A| 2++ 122 % 150% 5,225
o<l 2
14, 64621 182 %20 Al 2H+ 122 *150% o,907
OD2LH9 HE Hia2esY
8,000 1521 13] * 122 1,440
=2 483,561 468,552 15,009




SN A
MM HYSAFH(BH&E ) (OIEH/IIEH
el Jl=3t| (St ®2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
J|123&H| 483,561 468,552 15,009
201 LB-2AH| 320,715 305,588 15,127
01 AtR2telt] 111,172 113,441 A2,269
OYutaRY| ZoH|A
55,189,000 14| 55,189
O2gsg S A 15,820,000 14 15,820
OlLl=t| SHH & 2,100,000& * 14 2,100
O=2t| SHH & 38,063,000 & 14! 38,063
02 32| 209,543 192,147 17,3%
OZ322= & HA SHH L
103,270,000 * 14 103,270
OAEEHISAHl SHHA
78,951,000 * 14| 78,951
OXte - HdetH| SHA A
27,322,000 14! 27,322
202 0idl 141,778 142,810 21,032
01 =LHO4 b 50,578 51,610 A1,032
ORN2ZE SUH A 50,578,000 & 14! 50,578
02 X0l 91,200 91,200 0
OBHXA HEA 200,000& x 108 123 24,000
OBAHZ A HEA 200,0002 x28F 123 67,200
203 RF=&Y| 21,068 20,154 914
01 J|22GHRFA| 6,000 6,000 0
O8AHAE 6,000,000& 6,000
02 FRIAHH R F=AH| 5,828 5,3%4 494
OBAA HEA AT ZH[(FH 253H)
5,828,000& * 14! 5,828
M PA2IHRFAL 9,240 8,820 420
OSHSAHIM(ER 104Y)
(400,000&+(5,000& *74% ) )* 12& 9,240




